
 

The City School, PAF Chapter         Junior III 

Math Reinforcement -2  

 

Q1:  Write as a decimal fraction: 

a) 
  

  
  = __________    c) 

  

   
 = ___________ 

b)   
  

   
 = __________    d)   

  

  
 =  ___________ 

 

Q2: Sum up the amount below: 

a)   £ 6 . 9 8    b) £ 0 . 4 4 

+£ 4 . 0 7     +  £ 6 . 9 8 

________        _______ 

 

Q3 : Find the difference: 

a)    £ 7 . 0 0    b) £ 4 . 0 4 

- £  2 . 6 8        £ 1 .  6 3 

   _______       ________ 

 

Q4: Write the value of each underlined digit: 

a) 3 . 6 9 =___________   c) 3 5 . 1 8 = ___________ 

b) 2 4 . 7 = ___________   d) 6 4 . 2 1 = ___________ 

 

Q5: Write in ascending order: 

a) 
 

  
   ,    nine-tenth  ,  0.7   ,  

 

  
   = ________________________________________ 

b) 
 

  
  ,  

 

  
   ,  0.6  ,   five-tenth = __________________________________________ 

 

Q6: Write in descending order: 

a) 2
 

  
    ,  2.2  ,  3.6   , 1 

 

  
  = _____________________________________________ 

b) 7
 

  
   ,  two-tenths   ,   9 

 

  
  , 7.6 = _______________________________________ 
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